PEIIABAILE IMHEAPHU PABEHKHU

1. Pemin ru paBeHKHTeE:
a) 6X—7—-8x=—x-7
0) y-9-4y=y+8-9
B) —a+11-4a=-8-6a
r)
b-4b-5=—4+2b+4b-10
n) 6y—-37—-y=6y-10
r) 4s—-3=-8s+4

e) 8c+5-c=4c+4

x) 8v—-5=4v-14

3) —7x—-1=-5-X

s) 20—79g-5=9g-6
) 4—7d +6=2d+20
j)e+l+e=-1-e

K) X+6=X—-2+X

1) 70y —-40=110y —-60

2. Pemiu ru paBeHKHUTE

3. Pemiu ru paBeHKHUTE

a) 10-(2y —3)=15y y_1 L _p.®

6) x—3-(~x—2)=2x 4+0,05 5

B) 3+(10—7a)=2+3(a-1) 6) —x—2=-"%_05
3 3

r) —2(b—1)=—(10—b +2b)

m) 4+2-(-c+3)=-5

) 2(d —3)=—(-2+3d)

e) 5-4(-x—3x)=7(2x-1)
x) —5-3(6—3x)=+~21+6x)

r) 0,03x=0,7 + x
1
2

1

a
2+05=1-a-=
g 5

B) 0,3c-21=c—-0,7

4. Pemiu ru paBeHKHUTE

a) 2X— 1 x 21
3 2) 6

6) 2—3-(5y—1)=%

5. Pemu ru paBeHKHUTE

2 XF3_X_y X
9 2 2

6+a a 4-3a a-4

6) = _Z
) 11 2 11 2

5) 2_3x—4:_
13
") _6b+5—2=3_2b+4b
8 4




